## RURAL WORKS DEPARTMENT



## **GOVERNMENT OF BIHAR**

NAME OF ROAD:- RESTORATION OF ROAD FROM NH-57 SIRSIYA

GRIDHAR PATTI VIA PARWAHA GHIWAHA BELSANDI

DIVISION:- R.W.D, WORKS DIVISION, FORBESGANJ

CIRCLE:- R.W.D, WORK CIRCLE, KISHANGANJ

BLOCK:- FORBESGANJ

ESTIMATED COST

9827397.00

## **Abstract of Cost**

Name of Work: Estimate for Repairing/Restoration/Making Motorable Roads

Damaged during flood in JULY 2020 in ARARIA District

RESTORATION OF ROAD FROM NH-57 SIRSIYA GRIDHAR PATTI VIA PARWAHA

Name of Road:-

**GHIWAHA BELSANDI** 

Block: FORBESGANJ

District: ARARIA

Divison: RWD, Works Division, FORBESGANJ

Circle: RWD, Work Circle, Kishanganj

COST OF 1ST CUTTING RESTORATION

Rs

1273780.00

**COST OF 2ND CUTTING RESTORATION** COST OF 3 ST CUTTING RESTORATION

Rs

7580078.00

973539.00

TOTAL COST OF RESTORATION

Rs

9827397.00

Say

9827397.00

Technically approved for RS1, 98,27,397 (Rupees ninty eight laws twenty seven thousand three hundred ninty soven Duly) Superintending Engineer

Rural Works Department Works Circle, Kishanganj

Superintending Engineer Rural Works Department Works Circle, Kishangani

Date:	<u> ispection</u>	Report for flood	inmane wo	veli.	•		
1.Name of PlUs-	RWD	forbesganj	unage wo	<u>11 K</u>			
2.Name of Block/Road		ses ganj					<b>.</b> .
A.For Road NHS	12rls P	ya gridhan Patti	via pan	wahq	ghlwaha	belsandi	
1.Damage Location/Cl					Ü		
2. Damage Lengh	amage :						
3. Nature of Damage	:	26m+ 162m+ Plood damage	29m - 0	0.17			
4. Details of Restoration		Flood damag	dite/h	WIIM	A al la		
i Material being use			e, construction	10 125m	depth.	•	
		oration					
ii Equipment/Tools iii Procedure taken u iv Restored Length	n in Dan	d in Restoration w	orks:	$\sim$ $\sim$ $\sim$	al reside	ed and Dom	1000 Pilling
iv Restored Length	1762(	oration works	: 1	ing our	cross boo	et and Dom perly Ecb	of de
			: 20	7m		J	
B. For Bridge							
1.Damage Location/Cha	ainage ·						
2. Damage Lengh				7			
3.Nature of Damage	•		4	1			
4. Details of Restoration			•				
i Material being used	d in Resto	Oration			IA		
ri <del>r</del> daibiliciin I dole F	Dina		:	1			
	in Resto	ration works	orks:				
iv Restored Length		110172	• :				

Signature of JE/AE/EE

iv Restored Length

(Name of Inspector)

## **Abstract of Cost**

Name of Work: Estimate for Repairing/Restoration/Making Motorable Roads
Damaged during flood in JULY 2020 in ARARIA District

Name of Road:

RESTORATION OF ROAD FROM NH-57 SIRSIYA GRIDHAR PATTI VIA PARWAHA GHIWAHA BELSANDI

**Block: FORBESGANJ** 

District: ARARIA

Divison: RWD, Works Division, FORBESGANJ

Circle: RWD, Work Circle, Kishanganj

SIN	Description	Unit	Quantity	Rate	Amount
1	Filling of local sand obtained from river bed, watering & ramming, all complete job as per specification & direction of Engineer-in-charge.		(m3)	(Rs)	(Rs)
2	Labour for cutting C2	Cum	1508.00	627.77	946679.51
	Labour for cutting 62mm to 75mm dia bamboo piles to size and making shoes & driving by jet machine etc. all complete job as per specification & direction of Engineer-in-Charge.	S			
3	Labour for fitting 8 S	Mtr.	312.00	75.86	23667.88
	Labour for fitting & fixing 62mm to 75mm dia bamboo runners in position at every vertical pile with 150 mm long nails or 38 swg G.I wire including cost of G.I wire or nails etc all complete job as per specification & direction of Engineer-in-Charge.		7		
		Mtr.	156.00	40.06	6249.45
4	Supplying of EC bag, filling of local sand, stitching and placing in position as per the direction of Engineer-in-charge.			10100	0243.43
5	Supply and Carriage of brick bats upto 8 km breach and placing in breaches and lying of bats, all complete job.	Each	3232.03	37.35	120705.67

		Cum	21.60	1851.91	40001.33
6	Supply,laying and Carriage of of hume pipe 1000 mm dia (HPC), all complete Job.				
		meter	0.00	5054.05	0.00
	TOTAL AMOUNT =				1137304.00
	ADD 12.00 %GST=				136476.00
	SAY TOTAL AMOUNT =				1273780.00

RWD WORKS DIV. FORBESGANJ

RWD WORKS DIV. FORBESGANJ

E.E.

RWD WORKS DIV. FORBESGANJ